Mr Lightfoot		22nd June 2020
Lesson 1: Perform calculations with ratio when only part of the information is known.
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6 Jacqueline invests some money in bank accounts A and B in the ratio 12:13.
If she invests £3750 in account A, how much does she invest in account B?

The ratio of Leo’s age to Caroline’s age is 2:3. Caroline is 15 years old.
In how many years will the ratio of their ages be 3:4?
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Using Ratios

You can use ratios to solve problems.

You can scale up a ratio by multiplying each side of the ratio by the same number.
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E‘;c;n—;]—e §J The ratio of caster sugar to demerara sugar in a
= recipe is 5:4. If 250 g of demerara sugar is used,
how much caster sugar is used?

1. Work out what you need to 250 +4=62.5
multiply by to go from 4 to caster sugar:demerara sugar
250 on the right-hand side.

3
%62.5(_ )x625
2. Multiply the left-hand side by 312.5:250
the same number to find the
amount of caster sugar used. So 312.5 g of caster sugar is used
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Exercise 3

1 Purple paint is made by mixing blue paint and red paint in the ratio 5:12.
If 12.5 litres of blue paint are used, how many litres of red paint are needed?

2 Inarecipe, flour and butter are used in the ratio 8:3.
If 100 g of flour are used, how much butter is needed?

3 Shaun and Ben share some money in the ratio 11:7.
If Ben gets £45.50, how much does Shaun get?
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4 The ratio of Tom’s height to Lisa’s height is 8:5. If Tom is 1.68 m tall, how tall is Lisa?

5 Milly and Lotte are knitting scarves. For every 6 cm that Milly knits, Lotte knits 11 cm.
If Milly knits a scarf that is 1.2 m long, how long will Lotte’s scarf be in metres?




